Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Serdica

Bulgariacae mathematicae publicationes

Сердика

Българско математическо списание

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints. Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal http://www.math.bas.bg/~serdica
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

APPLICATION OF FRACTIONAL CALCULUS TO A THIRD ORDER LINEAR ORDINARY DIFFERENTIAL EQUATION

KATSUYUKI NISHIMOTO, SHYAM KALLA

Fractional Calculus is used to obtain a particular solution of the following non-homogeneous third order linear ordinary differential equation of Fuchs type:

$$\varphi_3.(z^3-z) + \varphi_2.\{(3\alpha+\beta+\gamma)\ z^2+\beta\gamma z-\alpha\} + \varphi_1.\{\alpha(3\alpha+2\beta+2\gamma-3)z+\alpha\beta\gamma\} + \varphi.\alpha(\alpha-1)\ (\alpha+\beta+\gamma-2)=f, z=0, \pm 1$$

 α , β and γ are constants, $z \in C$, $\varphi = \varphi(z)$, $\varphi_1 = d\varphi/dz$, $\varphi_2 = d^2\varphi/dz^2$, $\varphi_3 = d^3\varphi/dz$ and f = f(z) is a known function.

1. Introduction. Fractional calculus deals with the derivatives and integrals of arbitrary orders, called the differintegrals [7, 10, 11, 12]. The concept of differintegral of complex order v, which is a generalization of the ordinary n-th derivative and n-times integral, can be introduced in several ways. One of the simplest definitions of an integral of fractional order is based on an integral transform, called the Riemann — Liouville operator of fractional integration [12]

(1)
$$R^{\alpha}f = I_x^{\alpha}f(x) = \frac{1}{\Gamma(\alpha)} \int_0^x (x-t)^{\alpha-1} f(t) dt, \quad \operatorname{Re}(\alpha) \ge 0$$

(2)
$$= \frac{d^n}{dx^n} R_x^{\alpha+n} f, \text{ for Re } (\alpha) < 0.$$

Another fundamental definition of differintegral of order v, due to Grunwald [11] is as follows:

(3)
$$\frac{d^{\nu}f}{[d(x-a)]^{\nu}} = \lim_{N \to \infty} \left\{ \frac{\left[\frac{x-a}{N}\right]^{-\nu}}{\Gamma(-\nu)} \sum_{j=0}^{N-1} \frac{\Gamma(j-\nu)}{\Gamma(j+1)} f(x-j\left[\frac{x-a}{N}\right]) \right\},$$

where v is arbitrary. It is interesting to observe that here no explicit use is made of classical definitions of derivatives or integrals of f.

K. Nishimoto [7, 10] defines the differintegral as follows: If f(z) is a regular function and it has no branch points inside and on C (where $C = \{C, C\}$ C being an integral curve along the cut joining two points z and $-\infty + i \operatorname{Im}(z)$, and C being an integral curve along the cut joining two points z and $\infty + i \operatorname{Im}(z)$,

(4)
$$f_{v} = {}_{c} f_{v} (z) = \frac{\Gamma(v+1)}{2\pi i} \int_{c} \frac{f(\xi) d\xi}{(\xi-z)^{v+1}}$$
$$v \notin Z^{-}; \quad v \in R \quad \text{and} \quad f_{-n} = \lim_{v \to -n} f_{v} (n \in Z^{+}),$$

25

where $\xi + z$, $-\pi \le \arg(\xi - z) \le \pi$ for C and $0 \le \arg(\xi - z) \le 2\pi$ for C, then $f_v(v > 0)$ is the fractional derivative of order v and $f_v(v < 0)$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v, if $f_v(v) = 0$ is the fractional integral of order v.

if f_v exists (consider the principal value of f for many valued functions). Various authors [1, 2, 5, 13] have defined and studied differintegral operators and their applications. These operators have applications not only in analysis, but also in many physical problems [6, 11]. S. Kalla, B. Ross [3], S. Kalla, B. Al-Saqabi [4] have applied them in summation of series, while K. Nishimoto [8, 9, 10] has obtained the solution of several differential equations by invoking the fractional calculus. In the present paper, we obtain a particular solution of a differential equation of Fuchs type by means of the fractional calculus. The method presented here can be easily extended to solve other similar differential equations.

2. Differential equation and its solution. Here we shall deal with a third order linear non-homogeneous differential equation of Fuchs-type.

Theorem 1. If $f_a(\pm 0)$ exists, then the non-honogeneous third order linear ordinary differential equation of Fuchs type

(5)
$$\varphi_3 \cdot (z^3 - z) + \varphi_2 \cdot \{(3\alpha + \beta + \gamma) \ z^2 + \beta \gamma z - \alpha\} + \varphi_1 \cdot \{\alpha(3\alpha + 2\beta + 2\gamma - 3) \ z + \alpha \beta \gamma\} + \varphi \cdot \alpha(\alpha - 1) (\alpha + \beta + \gamma - 2) = f \quad (z \neq 0, \pm 1)$$

has a particular solution of the form

(6)
$$\varphi = \left(\left(f_{-\alpha} \cdot \frac{(z-1)^A (z+1)^B}{z^3 - z} \right)_{-1} \cdot \frac{1}{(z-1)^A (z+1)^B} \right)_{\alpha = 2},$$

where $\varphi = \varphi(z)$, f = f(z), $z \in C$, and α , β and γ are constants and $A = (\beta + \gamma + \beta \gamma)/2$. $B = (\beta + \gamma - \beta \gamma)/2$.

Proof. Putting

$$\varphi = w_a = w_a(z)$$

(8) yields
$$\varphi_1 = w_{1+\alpha}$$

$$\varphi_2 = w_{2+a},$$

and

(10)
$$\varphi_3 = w_{3+\alpha}$$

where w = w(z).

Substituting (8), (9) and (10) into (5), we obtain

(11)
$$(w_3 \cdot z^3)_a - (w_3 \cdot z)_a + (\beta + \gamma) (w_2 \cdot z^2)_a + \beta \gamma (w_3 \cdot z)_a = f,$$

that is,

(12)
$$w_3 + w_2 \cdot \frac{(\beta + \gamma)z + \beta \gamma}{z^2 - 1} = f_{-\alpha} \cdot \frac{1}{z^3 - z}$$

since [7]

$$(w_3.z^3)_a = w_{3+\alpha}.z^3 + 3\alpha w_{2+\alpha}.z^2 + 3\alpha(\alpha - 1)w_{1+\alpha}.z + \alpha(\alpha - 1)(\alpha - 2)w_{\alpha},$$

$$(w_3.z)_a = w_{3+\alpha}.z + \alpha w_{2+\alpha}, \quad (w_3.z^3)_a = w_{2+\alpha}.z^2 + 2\alpha w_{1+\alpha}.z + \alpha(\alpha - 1)w_{\alpha},$$

and
$$(w_2.z)_\alpha = w_{2+\alpha}.z + \alpha w_{1+\alpha}$$
.
Putting $w_2 = u = u(z)$,
we have then

(13)
$$u_1 + u \cdot \frac{(\beta + \gamma)z + \beta\gamma}{z^2 - 1} = f_{-\alpha} \cdot \frac{1}{z^3 - z}$$

from (12).

A particular solution to this first order linear differential equation is given by

(14)
$$u = w_2 = \left(f_{-\alpha} \cdot \frac{(z-1)^A (z+1)^B}{z^3 - z} \right)_{-1} \cdot \frac{1}{(z-1)^A (z+1)^B}$$

Therefore we have

$$\varphi = w_{\alpha} = u_{\alpha-2} = \left(\left(f_{-\alpha} \cdot \frac{(z-1)^A (z+1)^B}{z^3 - z} \right)_{-1} \cdot \frac{1}{(z-1)^A (z+1)^B} \right)_{\alpha-2}$$

as a particular solution to the equation (5).

Inversely, substituting (6) into the left hand side of (5), we have then that the left hand side of (5) equals to

$$(w_{3} \cdot z^{3} - w_{3} \cdot z + (\beta + \gamma) \ w_{2} \cdot z^{2} + \beta \gamma w_{2} \cdot z)_{a} = (w_{3} \cdot (z^{3} - z) + w_{2} \cdot \{(\beta + \gamma)z^{2} + \beta \gamma z\})_{a}$$

$$= (((f_{-\alpha} \cdot \frac{(z-1)^{A}(z+1)^{B}}{z^{3} - z})_{-1} \cdot \frac{1}{(z-1)^{A}(z+1)^{B}})_{1} \cdot (z^{3} - z)$$

$$+ (f_{-\alpha} \cdot \frac{(z-1)^{A}(z+1)^{B}}{z^{3} - z})_{-1} \cdot \frac{(\beta + \gamma)z^{2} + \beta \gamma z}{(z-1)^{A}(z+1)^{B}})_{a}$$

$$= (f_{-\alpha} \cdot \frac{(z-1)^{A}(z+1)^{B}}{z^{3} - z} \cdot \frac{z^{3} - z}{(z-1)^{A}(z+1)^{B}})_{1} \cdot (z^{3} - z)$$

$$+ (f_{-\alpha} \cdot \frac{(z-1)^{A}(z+1)^{B}}{z^{3} - z})_{-1} \cdot \frac{(\beta + \gamma)z^{2} + \beta \gamma z}{(z-1)^{A}(z+1)^{B}})_{a} = (f_{-\alpha})_{a} = f.$$

Changing the order

$$(f_{-a} \cdot \frac{(z-1)^A(z+1)^B}{z^3-z})_{-1}$$
 and $\frac{1}{(z-1)^A(z+1)^B}$,

we have another solution:

for $\alpha \notin z$ [10].

3. Solution of homogeneous differential equation. In this section we shall obtain a particular solution of the homogeneous differential equation of Fuchs type Theorem 2. Homogeneous third order differential equation

(17)
$$\phi_{3} \cdot (z^{3}-z) + \phi_{2} \cdot \{(3\alpha+\beta+\gamma)z^{2} + \beta\gamma z - \alpha\} + \phi_{1} \cdot \{\alpha(3\alpha+2\beta+2\gamma-3)z + \alpha\beta\gamma\}$$

$$+ \phi \cdot \alpha(\alpha-1) (\alpha+\beta+\gamma-2) = 0 \qquad (z \neq 0, \pm 1)$$

has a solution of the form

(18)
$$\phi = (\frac{1}{(z-1)^A(z+1)^B})_{\alpha=2},$$
 where $\phi = \phi(z)$ and $z \in C$.

Proof. Putting $\varphi = w_{\alpha}$ we have that

(19)
$$w_3 + w_2 \cdot \frac{(\beta + \gamma)z + \beta \gamma}{z^2 - 1} = 0$$

from (17). Hence

(20)
$$u_1 + u \cdot \frac{(\beta + \gamma)z + \beta \gamma}{z^2 - 1} = 0$$

form (19), where $w_2 = u = u(z)$.

And a solution to the equation (20) is given by $u = \frac{1}{(z-1)^A(z+1)^B}$. Therefore we obtain

(21)
$$\varphi = w_{\alpha} = u_{\alpha-2} = \left(\frac{1}{(z-1)^{A}(z+1)^{B}}\right)_{\alpha-2}$$

as a solution to the equation (17).

Theorem 3. If $f_a(\pm 0)$ exists, then the fractional differentegrated function

(22)
$$\varphi = ((f_{-\alpha} \cdot \frac{(z-1)^A(z+1)^B}{z^3 - z})_{-1} \cdot \frac{1}{(z-1)^A(z+1)^B})_{\alpha-2} + (\frac{1}{(z-1)^A(z+1)^B})_{\alpha-2} + (\frac{1}{(z-1)^A(z+1)^A})_{\alpha-2} + (\frac{1}$$

satisfies the non-homogeneous third order linear ordinary differential equation of Fuchs type (5).

Proof. It is clear by the Theorems 1 and 2.

- 4. Examples. Here we consider some examples of the theorems of the previous
 - (I) Examples of Theorem 1
 - (i) Let $\alpha = 1$ and $\beta = \gamma = 0$, we have then

(23)
$$\varphi_3.(z^3-z) + \varphi_2.(3z^2-1) = f \quad (z \neq 0, \pm 1)$$

and

from (5) and (6), respectively.

The function shown by (24) satisfies (23) clearly. (ii) Let $\alpha = -1/2$, $\beta = 0$ and $\gamma = 2$, we have that

(25)
$$\varphi_3 \cdot (z^3 - z)\alpha + \varphi_2 \cdot \frac{1}{2} (z^2 + 1)\beta + \varphi_1 \cdot \gamma \cdot \frac{z}{4} - \varphi \cdot \frac{3}{8} = f \quad (z \neq 0, \pm 1)$$

and

(26)
$$\varphi = ((f_{1/2} \cdot \frac{1}{z})_{-1} \cdot (z^2 - 1)^{-1})_{-5/2}$$

from (5) and (6), respectively.

Moreover, if we put $f=z^{-3/2}$, the equations (25) and (26) are reduced to

(27)
$$\varphi_3.(z^3-z)+\varphi_3.1/2(z^2+1)+\varphi_1\cdot\frac{z}{4}-\varphi\cdot\frac{3}{8}=z^{-3/2}(z\pm0,\pm1)$$

and

respectively, since [7]

$$(z^{-3/2})_{1/2} = \frac{-2i}{\sqrt{\pi}} z^{-2}$$

and

h

$$z^{-2}(z^2-1)^{-1} = \sum_{k=1}^{\infty} z^{-2(k+1)}$$
 (|z|>1).

That is, (28) is a particular solution to the differential equation (27). Inversely, substituting (28) into the left hand side of (27), we have that the left hand side of (27) equals to

$$\frac{i}{\sqrt{\pi}} \left(-2z^{-2} \right)_{-1/2} = z^{-3/2}.$$

Substituting φ and its derivatives from (28) into the left hand side of (27), we have that the left hand side of (27) equals to

$$\begin{split} \frac{1}{\sqrt{\pi}} \left[\sum_{k=0}^{\infty} \frac{1}{\Gamma(2k+2+2)} \left\{ \Gamma(2k+2+5/2) - 1/2 \, \Gamma(2k+2+3/2) + 1/4 \Gamma(2k+2+1/2) \right. \right. \\ \left. + 3/8 \, \Gamma(2k+2-1/2) \right\} z^{-2k-3/2} \\ - \sum_{k=1}^{\infty} \frac{1}{\Gamma(2k+2)} \left\{ \Gamma(2k+5/2) + 1/2 \mathrm{i} \, (2k+3/2) \right\} z^{-2k-3/2} \right] = \frac{1}{\sqrt{\pi}} \cdot \frac{12}{\Gamma(4)} \, \Gamma(3/2) \, z^{-3/2} = z^{-3/2}. \end{split}$$

(iii) Let
$$\alpha = -1/2$$
, $\beta = 0$, $\gamma = 2$ and $f = \text{Ke}^{-z}(z^3 - 1/2z^2 - 3/4z - 1/8)$,

we have then

(29)
$$\begin{aligned} \phi_3 \cdot (z^3 - z) + \phi_2 \cdot \frac{1}{2} (z^2 + 1) + \phi_1 \cdot z/4 - \phi \cdot 3/8 \\ = \operatorname{Ke}^{-z} (z^3 - 1/2 z^2 - 3/4 z - 1/8) \quad (z \neq 0, \pm 1) \end{aligned}$$

and

Ì

(30)
$$\phi = ((f_{1/2} \frac{1}{z})_{-1} (z^2 - 1)^{-1})_{-5/2} = \frac{k}{i} (e^{-z})_{-5/2} = \frac{k}{i} (-ie^{-z}) = -Ke^{-z}$$

from (5) and (6), respectively, since

$$f = \text{Ke}^{-z}(z^3 - 1/2z^2 - 3/4z - 1/8) = \frac{K}{i}((e^{-z} \cdot (z^2 - 1)_1 \cdot z)_{-1/2})$$

Inversely, we obtain that $\varphi_1 = Ke^{-z}$, $\varphi_2 = -ke^{-z}$

(31) and
$$\varphi_3 = Ke^{-z}$$
.

Substituting (30) and (31) into the left hand side of (29), we have that the left hand side of (29) equals to

(32)
$$\operatorname{Ke}^{-z}(z^3-z-1/2z^2-1/2+1/4z+3/8) = \operatorname{Ke}^{-z}(z^3-1/2z^2-3/4z-1/8).$$

As,

(33)
$$(e^{-z} \cdot (-z^3 + 2z^2 + z))_{-1/2} = ie^{-z}(z^3 - 1/2z^2 - 3/4z - 1/8).$$

(II) Examples of Theorem 2

(i) Let $\alpha = 1$, $\beta = 0$ and $\gamma = 2$, we have then

(34)
$$\varphi_3 \cdot (z^3 - z) + \varphi_2 \cdot (5z^2 - 1) + \varphi_1 \cdot 4z = 0 \quad (z \neq 0, \pm 1)$$

and

(35)
$$\varphi = \left(\frac{1}{z^2 - 1}\right)_{-1}$$

from (17) and (18) respectively since A=B=1. Inversely, substituting φ and its derivatives from (35) into the left hand side of (34), we obtain that the left hand side of (34) equals to

(ii) Let
$$\alpha = -1/2$$
, $\beta = 0$ and $\gamma = 2$, we have then

(36)
$$\varphi_3 \cdot (z^3 - z) + \varphi_2 \cdot 1/2 (z^2 + 1) + \varphi_1 \cdot z/4 - \varphi \cdot \frac{3}{8} = 0 \quad (z \neq 0, \pm 1)$$

and

(37)
$$\varphi = ((z^2 - 1)^{-1})_{-5/2}$$

(38)
$$= (\sum_{k=0}^{\infty} z^{-2(k+1)})_{-5/2} \quad (|z| > 1)$$

(39)
$$= \sum_{k=0}^{\infty} \frac{\Gamma(2k-1/2)}{\Gamma(2k+2)} z^{-2k+1/2},$$

from Theorem 2.

Inversely, substituting (38) into the left hand side of (36), we have that the left hand side of (36) equals to

$$(w_3.(z^3-z)+w_2.2z^2)_{-1/2}=(\sum_{k=0}^{\infty}z^{-2(k+1)})_1.(z^3-z)=0,$$

where

$$w = (\sum_{k=0}^{\infty} z^{-2(k+1)})_{-2}.$$

If we substitute (37) into the left hand side of (36), we have that the left hand side of (36) equals to

$$(w_3.(z^3-z)+w_2.2z^2)_{-1/2}=((z^2-1)^{-1})_1.(z^3-z)+(z^2-1)^{-1}.2z^2)_{-1/2}=(0)_{-1/2}=0,$$

where $w = ((z^2-1)^{-1})_{-2}$

And if we substitute (39) into the left hand side of (36), we have that the left hand side of (36) equals to

$$i \sum_{k=-1}^{\infty} \frac{1}{8\Gamma(2k+2+2)} \left\{ -8(2k+2+5/2) + 4\Gamma(2k+2+3/2) - 2\Gamma(2k+2+1/2) \right\}$$

$$-3\Gamma(2k+2-1/2)\}z^{-2k-3/2}+i\sum_{k=0}^{\infty}\frac{1}{2(2k+2)}\left\{2\Gamma(2k+5/2)+(2k+3/2)\right\}z^{-2k-3/2}=0.$$

REFERENCES

- I. H. Dimovski, V. S. Kiryakova, Transmutation, convolutions and fractional powers of Bessel-type operators via Meijer's G-functions. — In: Proc. Complex Anal. and Appl., Sofia, 1985, 45-66.
- 2. S. L. Kalla. Operators of fractional integration. In: Analytic functions, Kozubnik, 1979. (Lecture Notes Math., Vol. 798), Berlin, 1980, 258-280.
- 3. S. L. Kalla, B. Ross. The development of functional relations by means of fractional operators. In: Fractional Calculus. London, 1985, 32-43.
- 4. S. L. Kalla, B. Al-Saqabi. A functional relation involving w-function. Rev. Tec. Ing., Univ. Zulia, 8 (ii), 1985, 31-35.
- 5. V. S. Kiryakova. Generalized operators of Fractional integration & differentiation and applications. (Diss., Inst. Math., Bulg. Acad. Sci.), Sofia, 1986.
- 6. A. C. Mc Bride, G. F. Roach (Ed.) Fractional calculus. London, 1985.
- 7. K. Nishimoto. Fractional calculus. Koriyma, Japan, 1984.
- K. Nishimoto. Applications of fractional calculus to the solutions of linear second order differential equations of Fuchs type. — In: 6, 140-153.
- 9. K. Nishimoto. An application of fractional calculus to the non-homogeneous Gauss-equation. Coll. Engg. Nihon. Univ., B-28, 1987, 1-8.
- 10. K. Nishimoto. Fractional calculus. Koriyama, Japan, vol. II, 1987.
- 11. K. B. Oldham, J. Spanier. The fractional calculus. New York, 1974.
- K. B. Oldham. Fractional calculus and its applications. (Lecture Notes Math., vol. 457), Berlin, 1975.
- 13. M. Saigo. A remark on integral operators involving the Gauss hypergeometric functions. Math. Rep. college General Ed. Kyushu Univ., 11, 1978, 135-143.

College of Engineering Nihon University Koriyama, Fukushima-ken Japan Received 18, 11, 1987 Revised 18, 4, 1988

Division de Postgrado Facultad de Ingenieria Universidad del Zulia Apartado No 10. 182 Maracaibo (Zulia) Venezuela